ANERDAHYDRAULIC SWAGED HOSE FITTING ANERDAHYDRAULIC SWAGED HOSE FITTING

87311
SAE 3000PSI
SAE FLANGE3000 PSI
ISO 12151-3-SAE J516 87391
90° SAE 3000PSI
PART Number = HOSEBORE DIMENSIONS 90° SAE FLANGE 3000 PSI
THREAD E DN DASH A C D L 1SO 12151-3-SAE J516
87311-08-08 1/2 12 08 16 30.2 24 | 6.73
87311-12-08 34 12 08 17 38.1 31.7 | 6.73
87311-12-10 3/4 16 10 18 38.1 31.7 | 6.73
87311-12-12 i:j 20 12 18 38.1 31.7 | 6.73 = REEEGEE CENEENE
87311-12-16 s 25 16 19 38.1 31.7 | 6.73 PART Number THREAD E DN DASH A C D H L
87311-16-12 1 20 12 51 44.1 £t g 87391-08-08 12 12 08 41 30.2 24 | 47 6.73
87311-16-16 1 25 16 52 44.1 38 8 87391-12-08 3/4 12 08 41 38.1 31.7 | 48 6.73
cfeLl- 20 1.1/4 — 20 o el - = 87391-12-10 34 16 10 56.2 38.1 317 | 525 | 6.73
87311-20-16 1.1/4 25 16 57 50.8 43 8 87391-12-12 e 20 12 66.2 38.1 317 | 62 6.73
87311-20-20 1.1/2 82 20 58 50.8 | 43 8 87391-12-12(H100)| o ° 20 12 65.5 381 | 317 | 100 | 6.73
87311-24-20 ; 12 32 20 68 €0.3 50 8 87391-12-12(H127)| . . 20 12 65.5 381 | 317 | 127 | 6.73
87311-24-24 . 40 24 68 60.3 50 8 87391-12-12(H150)| 4 20 12 65.5 381 | 317 | 150 | 6.73
87311-32-24 e 40 24 70 714 62 | 9.53 87391-12-16 1 25 16 76.7 381 | 317 | 675 | 6.73
el 0 o 0 (- e e 87391-16-12 1 20 12 66.2 44.4 38 | 62 8
87311-40-40 64 40 6 84.1 4 9.53 87391-16-16 1 25 16 78 44.4 38 | 675 | 8
1. o 2. o 87312-xx-xx. _ 87391-16-16(H100)| 1 25 16 76.7 44.4 38 | 100 8
Note:1.For use with braided house 2.I1f use with spira house,hose fitting serise numberis87312-xx-xx 87391-16-16(H127) 1 o5 16 76.7 444 38 127 8
~ B 87341 87391-16-16(H150) i . 25 16 76.7 44.4 38 | 150 8
450 SAE  3000PS| 87391-16-20 s i 32 20 91.5 44.4 38 | 785 | 8
45° SAE FLANGE 3000 PS 87391-20-16 L 14 25 16 78 50.8 43 | 675 | 8
1SO 12151-3-SAE J516 87391-20-20 1.1/ 4 32 20 91.5 50.8 43 78.5 8
87391-20-20(H100)| 1. 1/4 32 20 91.5 50.8 43 | 100 8
= HOSE BORE DIMENSIONS 87391-20-20(H127)| 1.1/4 32 20 91.5 50.8 43 127 8
PART Number THREAD E DN DASH A C D H L 87391-20-20(H150)| 1.1/2 32 20 91.5 50.8 43 150 8
87341-08-08 12 12 08 58.2 30.2 24 | 233 | 6.73 T 1.1/2 P ” P - = | oas | e
87341-12-08 34 12 08 58.9 38.1 317 | 24 6.73 87391.24.20 .12 37 20 o1 5 50,3 50 | sos | 8
87341-12-10 3/4 16 10 70.1 38.1 317 | 253 | 6.73 T 2 = 9 — — P -
S AE TM 20 = 20 £ LU ZEE | B 87391-24-24(H127) f s 40 24 109.4 60.3 50 | 127 | 8
87341-16-12 4 20 12 L 44.4 38 | 289 | 8 87391-32-24 o 40 24 109.4 71.4 62 | 94 9.53
87341-16-16 1 25 16 85.2 44.4 38 29.7 | 8 87391-32-32 50 32 131.8 71.4 62 114.3 | 9.53
87341-16-20 1.1/4 32 20 94.5 44.4 38 338 | 8 87391-40-32 50 32 131.8 84.1 74.4 | 114.3 | 9.53
87341-20-16 1.1/4 25 16 85.2 50.8 43 207 | 8 . , 73020k
87341-20-20 1.1/2 32 20 94.5 50.8 43 33.8 8 Note:1.For use with braided house 2.If use with spira house,hose fitting serise number is87392-xx-xx
87341-24-20 1.1/2 32 20 95.9 60.3 50 352 | 8
87341-24-24 2 40 24 109.9 60.3 50 39.1 | 8
87341-32-24 2 40 24 109.9 71.4 62 39.1 | 9.53
87341-32-32 50 32 129.3 71.4 62 46.3 | 9.53
1. 2. 87342-XX-XX.
Note:1.For use with braided house 2.I1f use with spira house,hose fitting serise numberis87342-xx-xx

(Tel) 86-574-8847111 (Fax) 86-574-8847116 (URL) Http //www.ardyy.com (Tel) 86-574-8847111 (Fax) 86-574-8847116 (URL) Http //www.ardyy.com w



ANERDAHYDRAULIC SWAGED HOSE FITTING ANERDAHYDRAULIC SWAGED HOSE FITTING

87641

45° SAE 6000PSI
45° SAE FLANGE 6000 PSI

] T

FL : ISO 12151-3-SAE J516
SAE 3000PSI
' SAE SPLIT FLANGE CLAMPS 3000PS| HOSE BORE DIMENSIONS
ISO 6162-SAE J518 PART Number THREAD E DN DASH A C D H
87641-08-08 12 12 08 58.9 31.7 24 | 24 |7.75
87641-08-12 1/2 20 12 74.9 31.7 24 275 | 7.75
DIMENSIONS 87641-12-10 34 16 10 72.5 41.3 32 28.2 |8.76
PRV MO | FEANEIE Sllzls A B C D E oLy MEA 87641-12-12 e 20 12 79.2 41.3 32 31.8 |8.76
FL-08 w2’ 53.8 46.1 38.1 9 17.5 MBX25 87641-16-16 oy 25 16 90.2 47.6 38 | 347 |9.53
FL-12 3/4" 65 52.4 47.6 11 5.2 M10X30 34.5 87641.20.20 Lt v 20 1038 ” 2a | 215 11029
FL-16 1 69.9 °8.7 52.4 11 26.2 | M10X30 87641-24-20 L 1o 32 20 105.8 63.5 51 | 45.1 |12.57
FL-20 1.1/4" 79.2 73 58.7 11 30.2 M10X30 27.6 67641.24.24 ) 20 ” 1162 635 51 | 255 |1257
FL-24 1.1/2" 93.7 82.6 69.9 13.5 35.7 M12X35 207 87641.32.24 ) 20 ” 1254 294 - 547 |1257
REs-2 z O 2155 {04 L5139 el MIEUSS 87641-32-32 50 32 135.7 79.4 67 52.7 |12.57
FL-40 2.1/4" 114 109 88.9 13.5 50.8 M12X40 10
1. 2. 87642-XX-XX.
Note:Bolt should de ordered another Note:1.For use with braided house 2.1f use with spira house,hose fitting serise numberis87642-xx-xx
A
G 87611

87691

90° SAE 3000PSI
90° SAE FLANGE 3000 PSI
ISO 12151-3-SAE J516

SAE 6000PSI
SAE FLANGE3000 PSI
ISO 12151-3-SAE J516

PART Number E HOSE BORE DIMENSIONS E HOSE BORE DIMENSIONS

THREAD E DN DASH A C D L PART Number THREADE DN DASH A C D H L
87611-08-08 1/2 12 08 47 31.7 24 | 7.75 87691-08-08 1/2 12 08 41 31.7 24 | 48 7.75
87611-12-10 3/ 4 16 10 51 41.3 32 8.76 87691-12-10 3/ 4 16 10 56.5 41.3 32 56.5 |8.76
87611-12-12 34 20 12 51 41.3 32 | 8.76 87691-12-12 3/4 20 12 66.2 41.3 32 | 66 8.76
87611-16-12 1 20 12 56 47.6 38 | 9.53 87691-16-12 1 20 12 66.2 47.6 38 | 69 9.53
87611-16-16 l 25 16 57 47.6 38 | 9.53 87691-16-16 l 25 16 78 47.6 38 | 745 |9.53
87611-16-20 : A 32 20 61 47.6 38 | 9.53 87691-16-20 : " 32 20 91.5 47.6 38 | 85.5 [9.53
87611-20-16 114 25 16 65 54 44 | 10.29 87691-20-16 114 25 16 78 54 44 | 785 |10.29
87611-20-20 1.1/2 32 20 66 54 44 | 10.29 87691-20-20 1.1/2 32 20 91.5 54 44 | 895 |10.29
87611-24-20 1.1/2 32 20 75 63.5 51 | 12.57 87691-24-20 1.1/2 32 20 91.5 63.5 51 | 945 |12.57
87611-24-24 2 40 24 75 63.5 51 | 12.57 87691-24-24 2 40 24 109.4 63.5 51 | 108 |[12.57
87611-32-24 2 40 24 85 79.4 67 | 12.57 87691-32-24 2 40 24 109.4 79.4 67 116 | 12.57
87611-32-32 50 32 85 79.4 67 | 12.57 87691-32-32 50 32 131.8 79.4 67 | 136.3 |12.57

1. 2. 87612-xx-XX. 1. 2. 87692-XX-XX.
Note:1.For use with braided house 2.1f use with spira house,hose fitting serise numberis87612-xx-xx Note:1.For use with braided house 2.1f use with spira house,hose fitting serise numberis87692-xx-xx

(Tel) 86-574-8847111 (Fax) 86-574-8847116 (URL) Http //www.ardyy.com (Tel) 86-574-8847111 (Fax) 86-574-8847116 (URL) Http //www.ardyy.com



